o mnnahi ey §
5‘%‘.%—2 Hlliz Y

SxXioily b, o3 o
POWERED BY " Fo-gi Rl |88, 8
ESS . iim ¥ £* Bz
L] 10 : T B
:; tud e Fos

® H ) Y d e
S 5@ oo 32
DOOR COMPONENTS MADE IN THE USA e g g §§ 2
i - 2 2 Q
74.65" MAX. FRAME WIDTH £go §
O N g E

o xz
28, 6
S € n
502
Dan g
o
:

Documents Prepared By

Opaque Fiberglass Door

CERTIFICATE OF REGISTRATION # F—11852

"NON-IMPACT"

wn
=
INSWING / OUTSWING - = 72
5 O oF
& i -0
T T Z L
¢ |5 58
is SO 3 |3 S
29 Ez I
- 3 wl
$¢ ot © % &
:S %S X X 5| |5 88
< < ™ 8 ol &
% i 2 ¥ o
o ™N a o
® o ol -
EVALUATED FOR USE IN THE STATE OF TEXAS —| P
The Opagque Fiberglass Door system described herein compilies with the 2018 ’51
Intemational Residential Code (IRC), Sections R301 & Ré09 and the 2018 IS
International Building Code (IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 I ~lo
subject to the following conditions: o %
(A1)
1. Anchors shall be as listed and spaced as shown in the details. Anchor o2l 12
embedment fo base material shall be beyond wall dressing or stucco. g ] )
2. When used in areas requiring wind-borne debris protection this product is ‘ ‘ S & U;’
required fo be protected with an impact resistant covering that complies e o o
with Section R301.2.1.2 of the IRC and Section 1609.2 of the IBC. 2 w
3. Allowable design pressure requirements must be equal to or less than the =
design pressure rating shown in the design pressure chart, sheet 1 of this a3 §
drawing. <
4. Conditions not covered by this drawing are subject to further engineering o
analysis. NEE
SIS
TABLE OF CONTENTS = I
o)
SHEET # | DESCRIPTION b =
1 Typical elevations, design pressures & general notes NEGA oaTE: 10/31/18
2 Astragal details SCALE:  N.T.S.
3 Door panel details INSWING +5O'O -55.0 +50.0 -50.0 DWG. BY: JK
4 Horizontal & vertical cross sections )
5 Vertical cross sections OUTSWING ""'60.0 '60‘0 ""50.0 '50'0 s::;wsz NO.: S
6 Frame anchoring TX—4894
SEE SHEET 5 FOR THRESHOLD DESIGN PRESSURE LIMITATIONS

SHEET 1 oF 6

R\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-1011 Opaque Therma-Tru FG door XX (LK, DB) (4894-4895)\C - Drawings\TX-4894-95.dwg, TX-4894

© 2018 R.W. BUILDING CONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-1011 Opaque Therma-Tru FG door XX (LK, DB) (4894-4895\\C - Drawings\TX-4894-95.dwg, 1-2

(2) #8 X 1-5/8" PFH
WOOD SCREWS

LOWER BOLT SLEEVE
(REINF. POLYMER)

ULTIMATE/ULTIMATE COMPATIBLE

{TRIM COVER REMOVED)

HURRICANE ASTRAGAL

UPPER BOLTSLEEVE  a.
(REINF. POLYMER) Ql

ANCHOR SCREW LOCATIONS

(2) #8 X 1-5/8" PFH
WOOD SCREWS

BOLT RETAINERS

SLIDE BOLTROD

——
|

r — % L% I (oo =10
55" — ; 35.5"

HARDWARE LOCATIONS

ALUMINUM
ASTRAGAL

ALUMINUM ASTRAGAL ASSEMBLY

175" i 1.75" i
0.063"
> S
ULTIMATE HURRICANE ULTIMATE COMPATIBLE*
ASTRAGAL HURRICANE ASTRAGAL
[OPTIONAL)
ASTRAGAL SECTIONS

*

NOTE: INCREASE THE MAXIMUM FRAME WIDTH BY 3/16" TO ACCOMODATE THE OPTIONAL

ULTIMATE COMPATIBLE HURRICANE ASTRAGAL WHEN USED.

#8 X 3/4" PFH WS

#8 X 3" PFH WS

'v“m;‘:':}':e:z‘xl‘&l? 1
e
AR Y
o et
S 12t
ey PR M
s 101
i} H2H
Gu.i tuld
?:-O'-. 1z
s 10
45 12
Qi
zill‘" ¥:1 0
T

! DEADBOLT STRIKE
PLATE
| LATCH STRIKE
a PLATE
LATCH & DEADBOLT DETAIL

I—*——»T- 1.63"
T’y

—~| [—os

BOLT RETAINER
(GF NYLON])

9.5" 4V

)

‘—’-J |<— 0.32"

SLIDE BOLT ROD
(STEEL)

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

P.O. Box 230 Valrico FL. 33595
Phone No.: 813.659.9197
TEXAS BOARD OF PROFESSIONAL ENGINEERS

BUILDING CONSULTANTS, INC.
CERTIFICATE OF REGISTRATION # F—11852

Documents Prepared By:

[7p]
=
5
gg o
> >l
I Bl <
= RS
] o <<
Hl
2 &5
B ; <
Q
3 o
o &
o <C
o o,
U
Ll i
"
o
e}
K0
O
8l
NN
Slel (v
A z
0|0 1O
Elg| 12
o BN o
512 [
Sl
Ll
olf
13815
<
o>}
S |
Np I
I~ |3
- lo
z
DATE: 10/31/18
scale:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4894

SHEET 2 oF 6

© 2018 R.W. BUILDING DONSULTANTS INC.



R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1011 Opaque Therma-Tru FG door XX (LK, DB) (4894-4895\C - Drawings\TX-4894-95.dwg, 1-3

N ey
% tred, ‘;; 0
S Yo [
P B Ex L 4o
~1.2" — EXTERIOR ——— 2375" — = 1.2" i G g% @ io
S w2g Hdy 9B g
.8 1A W [+ % =5 [N
» :'. T :7 c j ?" BES
2312 S 2
R ’ 121 gg .% o gé
+ PR - TOe 0
- SO T D
ieend™ 5 88’ Eg
o 3% z w &
e % oy Of
HINGE STILE INTERIOR LOCK BLOCK LATCH STILE & 3658
H r ¥ E
(ENG. WOOD) 12.5'LONG (WOOD)  (en. wooD)| : m§ §§
1"\ HORIZONTAL CROSS SECTION £ & £
3 : i
3/ TOP RAIL g
(COMP) ~__ o
36" DOOR .
WIDTH 2
o "
o Q
p 5 s
-
FIBERGLASS R
DOOR SKIN 3
IS
| L8
&n = -
\3/ 2|z
o o
[ —
5 & 2 &
3 m -
= l INTERIOR EXTERIOR S
] T— — o
=z K|
<C
0. = &)
> (o} =N
< =
2 X ? 3|8 4
5 \ 8 2
ﬁ Elo 2}
SNl 1=
SEE HARDWARE FOAM CORE tlo| &
TABLE ™~ Bl
[h 1
. Q
3|5
= <€
% @
1 S e
N S
BOTIOM RALL ™| = -
(COMP.) -1
-~ 17" pate: 10,/31/18
DOOR PANEL : e : scAl:: N.T.S.
Therma-Tru Fiberglass KWIKSET LATCH: KWIKSET SIGNATURE SERIES (991) DWG. BY: JK
DEADBOLT: KWIKSET SIGNATURE SERIES (980/985) 2"\ VERTICAL CROSS SECTION cHk. B:  LFS
\y DRAWING NO.:
: ! TX—4894
DOOR SKIN: FIBERGLASS (0.075" MIN. THICKNESS)
CORE MATERIAL: POLYURETHANE FOAM SHEET 3 OF 6

@ 2018 R.W. BUILDING CONSULTANTS ING.




2N/ 3\ 2X FRAMING 2X FRAMING u,
- o= ™~
4 N4/ (G>=042) - DRYWALL (> 0“{2) —— DSZVA‘-L g3 2o
~—— —— s 0 ui
4 P ES o ik
Y A . £ . 73] Z -
EXT. SHEATHING 1 L EXT. SHEATHING  p/]}4 i , wt E 5 6
. : o 'S
] [ (] i (] (] | il .. 2658 4
’ n i, g‘r— 5 §§ gg
; > 2E4 8
f1ii Lo f 4 LAl 2 -
#10 X 2-1/2" PFH y e 5 § 2% g%
T~ WOOD SCREW ogus te
1/4" MAX g g S g Ol
' i § 599 gp
SHIM SPACE L T~ #10 X 3 PFH J: m§. gé
Z o 2
™ o 2FE 14 MAX. — | WOOD SCREW 2 gt
a) X X 5 SHIM SPACE E R B8
| = 100000 g
DOOR PANEL \ * DOOR PANEL ~
\ HEAD: PINE HEAD: "FusionFrame” {1-PIECE) 2
3]
ENDURA WEATHERSTRIP ENDURA WEATHERSTRIP o
(QEBD/PE 650) (QEBD/PE 650) ge
\\ \ S B O
> q EXTERIOR INTERIOR EXTERIOR INTERIOR S = 2o
L & E%
NE ~ / 2\ VERTICAL CROSS SECTION mgﬁfn.cm;‘ CROSSSECTON 3 S8
v 5 5 W Outswing shown - inswing also approved W utswing shown - inswing also approve g = §
Q =
(@] x
& &
i I e
15" L
VEMAX. i ook 1/4" MAX. e
SHIM SPACE YP) SHIMSPACE  ExT, SHEATHING g
EXT. SHEATHING JAMB: "FusionFrame” [0
N JAMB: PINE (1 OR 2-PIECE]) zlg
. =N
i 10 4 ol ot ol ol 4 & — O
075 ' 07 | 075 e 40,( 2-1/2" PEH #10X2-1/2" PFH < 5|2 %
ULTIMATE/ULTIMATE COMPATIBLE ElS| [0
COMPOSITE oX FRAMING HURRICANE ASTRAGAL N
\ SNAP-ON i 2X FRAMING SiF| F
(G >=0.42) ENDURA WEATHERSTRIP i &l
CAP (QEBD/PE 650) ENDURA WEATHERSTRIP (G>=042) 2l
\ ‘ . DOOR PANEL (QEBD/PE 650) g
= Q=
O
2 U ]
D o ; o FHLRUS VLA R \ il
.= " S S s AN Sie
- - — - AN itk Y W, ) :
DD LVL / \\\ \ ||m NG S
R ! 178
— 125 ] o | #8X2-1/2" PFH #8X1"PFHSMS  #8X 3" PFH LATCH #8 X 1" PFH SMS #8X2-1/2" PFH SCAE: N.T.S.
: —] 125" = WOOD SCREW S HNGE WOOD SCREW o+ 1 pryy STRIKE PLATE £ HINGE WOOD SCREW owe. 8. JK
JAMB / HEAD JAMB / HEAD JAMB #8 X 3/4" PFH SMS WOOD SCREW - #8X3/4"PFH SMS cHk. B LFS
1" * n | . i DRAWING NO.:
PINE FusionFrame FusionFrame /"1 \ HORIZONTAL CROSS SECTION 504
(1-PIECE) (2-PIECE) \U Inswing shown - Outswing also approved
SHEET 4 of 6

R:\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1011 Opaque Therma-Tru FG door XX (LK, DB) (4894-4895)\C - Drawings\TX-4894-95.dwg, 1-4

© zo18 R.W. BUILDING DONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TDI - DR-1011 Opaque Therma-Tru FG door XX (LK, DB) (4894-4895\C - Drawings\TX-4894-95.dwg, 1-5

\\ \\ N%_\x-'\;*&"\:j\;g_l«“
INTERIOR EXTERIOR INTERIOR EXTERIOR ENDURA ,,;.:‘; wiEi bay
ST i
DOOR PANEL DOOR PANEL WEATHERSTRIP // DOOR PANEL ,"i?: w}“ Ti, o
ENDURA (QEBD/PE 650),  INTERIOR EXTERIOR AN
ENDURA \ ENDURA ] = dws%g twiy
DO“O)f;é_\g)EEP DOOR SWEEP WEATHERSTRIP_  INTERIOR EXTERIOR (5.5 §/™1 212 &
/1? (DBK-ZAC) 12)13 (QEBD/PE 650} G, ial XS
lff;’ rae, S St
(910 Bfrrin
\ DOOR phande™
D PANEL
P }3 —)

1/4"X 2-3/4" ELCO OR
ITW CONCRETE SCREW

/" 1"\ VERTICAL CROSS SECTION
w Inswing Adjustable Threshold

S -
I s
[ s . R
> o
Sl IN
. b A
. s
A LR .

T ) - . = > - ~ Bv =T
; . . . > > - ks
e : ' a L :
e - . & - » oo
. b . .- o
b v RS o .. - NN
B - D X

1/4" X 2-3/4'ELCO OR
[TW CONCRETE SCREW

/" 2"\ VERTICAL CROSS SECTION /"3 VERTICAL CROSS SECTION

1/4'X 2-3/4"ELCO OR
ITW CONCRETE SCREW

i ; > . K - ) i o . - N
BN . ) B N L L oo . ] L
\d . L - e -
> - L .
. A - - i Lo R . o
. g ” S ) . . D
& h o o Y o DI A Y
. - s ¥ =) Y [ — 4

1/4" X 2-3/4" ELCO OR
ITW CONCRETE SCREW

1-1/4" MIN.
EMB. (TYP.)

m VERTICAL CROSS SECTION

\y inswing Articulating Threshold \5/ Outswing Bump Threshold

w/ Pin Capture

W Outswing Bump Threshold

ui
g
":v—
83
Ex o
£ n
0 . 9
Iﬂlq »
8 ~
w 25
c‘é by
[+ o V.
Rl Q0
gl— ‘T
3 o9
>w
o
m
o~
x
[+]
o
o
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—-11852

2 ' NE
% % %
f jﬁ - « N 32!
| 456" | ! 4.56" ‘ ‘ 4.56" ! 456" I - 456" .
1)INSWING ADJUSTABLE THRESHOLD INSWING ADJUSTABLE THRESHOLD 3 )} INSWING ADJUSTABLE THRESHOLD 4 )} INSWING ADJUSTABLE THRESHOLD 5 )} INSWING ADJUSTABLE THRESHOLD
ZAIL4565 2 ZAI4565FN LAILAA4565 ZAIAA4565FN ZAI4565RDS
MAX. DESIGN PRESSURE = 45 PSF MAX. DESIGN PRESSURE = +45 PSF MAX. DESIGN PRESSURE = +50 PSF
i 2 = ~ A o
N o t R $
456" ! 456" ! | 456" — — 456" — . I —————-—l
INSWING ARTICULATING THRESHOLD INSWING ARTICULATING THRESHOLD g | INSWING ARTICULATING THRESHOLD 9 ) INSWING ARTICULATING THRESHOLD 10)INSWING ARTICULATING THRESHOLD
& JiacLases 7 Fiacasesm ZACLAAS65 TACAA4565FN ZACA565RDS

MAX. DESIGN PRESSURE = +45 PSF

MAX. DESIGN PRESSURE = £45 PSF MAX. DESIGN PRESSURE = +45 PSF

MAX. DESIGN PRESSURE = +45 PSF

MAX. DESIGN PRESSURE = 45 PSF

. A

-

S -—————J

14 OUTSWING THRESHOLD

] ) I - I
5 D i D & D I
% < <
| 456" ! | 456" | P
17 QUISWING THRESHOLD 12) QUISWING THRESHOLD 13 QUISWING THRESHOLD
70BL4565 ZOBA545FN ZOBA565RDS

FOB4566

MAX. DESIGN PRESSURE

=55 PSF

v
=z
o
=
O
]
)
= 0
> | 8
o it
z |3 X
L j= ©
77 -
QS
.. =
= x
O [0l
3 ol ¥
S &
a &
D =
Yl 1
W
o
o
S0
O
Sle
£l
ol |»n
A z
o|® O
Elsl 12
&l @
N
S
N
olf
]i5
<
[e)]
~
3 &
N O
-l lo
z
oATE: 10/31/18
Scate:  N.T.S.
DWG. BY: JK
CHK. BY: LFS
DRAWING NO.:
TX—4894

SHEET 5 oF 6

© zo18 R.W. BUILDING CONSULTANTS INC.



RA\Clients\Endura PERMANENT\B - Texas Dept of Ins\TD! - DR-1011 Opaque Therma-Tru FG door XX (LK, DB) (4894-4895)\C - Drawings\TX-4894-95.dwg, 1-6

Lyndon F. Schmidt, P.E.
TEXAS P.E. #104123

BUILDING CONSULTANTS, INC,

P.0. Box 230 Vairico FL. 33595
Phone No.: 813.659.9197

Documents Prepared By

TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

o

=Z

S

& 5
& .

o 5=

= o <

& =

B 2

< @

Ch
8 O
5] &
o <C
o o

ol >

e | [

UPDATE TO 2018 IBC/IRC CODE

REVISIONS

11/20/19|ADD “FusionFrame” OPTION &

1

=
<
a
o
pr
8

oate: 10/31/1

SCALE:

N.T.S.

'\.“-»\"\"'XL\.Q'}'*Q
HEAD ANCHORS: Astragal Strike Plate SRt z, 3 zzz
g w g 2X FRAMING #10X 2"1/2" WOOD SCREW (PINE JAMB) @ Head Jamb 5;’%0 24 ,%
& S < (BY OTHERS) #10 X 3" WOOD SCREW (1-PIECE JAMB) g 5;
z o & ¢
329 ~ z - L = L s
XN
(TYP ) + 8?3{'4
T 1] 3 ‘ 10X 25 PFH Ws s
q
: SEE HINGE T T
e | DETAIL 1
f kg DETAIL 1 E E DETAIL 1 L T
3 °E
& i B - ™ JAMB ANCHORS:
#10 X 2-1/2' WOOD SCREW (PINE/2-PIECE JAMB)
9 I #10 X 3" WOOD SCREW (1-PIECE JAMB) #8 X 2-1/2" PFH WS
3 ) 7
N ﬂ:; § < o || @
N T = . é/’ i
HBXTPRHWS <0 | Hle Sl == #8 X 3/4"PFH Ws
SEE HINGE E ]— 4' X 4" HINGE
DETAIL 2 | | B A\
) Ll “ % Fg HINGE DETAIL 1
B3 % DETAIL 2 OR 3 ==
b ﬁ 8 \ e
i I — P #8 X 2-1/2" PFH WS
SILL ANCHORS: Lt 1
SILL ANCHORS: #8X 1"PFHwWs <fo - Al ol .
4 (TYP.) "] #10 X 2-1/2"' PFH WOOD SCREW ~e Hle _\>> #8 X 3/4" PFH WS
4 (TYP.) L. : o (TYP,) ]/4!0 X 2_3/4»! ELCO OR | ~—— 4" X 4" HINGE
HINGE JAMB FLOOR SUBSTRATE MATERIAL ¢ ITW CONCRETE SCREW \
CONCRETE {MIN. 3000 PSI)
WOOD (G >=0.42) FRAME ANCHORING HINGE DETAIL 2
XX
*NOTE: This anchor required for D.P. > 45 PSF.
JAMB NOTES:
THE PINE OR "FusionFrame" 1-PIECE JAMB MAY BE INSTALLED @ THE HEAD OR SIDE JAMB.
THE FusionFrame" 2-PIECE JAMB MAY BE INSTALLED @ THE SIDE JAMBS ONLY.
CONCRETE ANCHOR NOTES:
1. Concrete anchor locations at the comers may be adjusted to maintain the min.
edge distance to morfar joints. 3/16" X 2-3/4" ITW CONCRETE SCREW :
2. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo OR ASTRAGAL PIN CAPTURE
maintain the min. edge distance to mortar joints, additional concrete anchors "
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded. #8 X 3" PFH WOOD SCREW COMPONENT (UNDER CAP)
3. Concrefe anchor fable ASTRAGAL STRIKE
3 PLATE @ SILL \ 1/2" DIA. HOLE (IN CAP)
W =19, . L& L ©® oo
TAPCON® | 3/1¢" 1-3/4" 3 1-1/2" = = > - =
,Af,’go”® 4 1-3/4" 1-1/2" &
ELCO " " " " 1/2" DIA. HOLE
Outswing Inswing Inswing

WOOD SCREW INSTALLATION NOTES:

1. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws fo prevent the splitting of wood.

DWG. BY:

JK

CHK. BY:

LFS

DRAWING NO.:
TX—4894

SHEET 6 OF 6

© 2018 R.W. BUILDING CONSULTANTS ING.



